G 7 pERUCOE
I8 M i .
. KRR | B : i i
X ) £
T H E2n] e
1 4 @8 & 319,978 702727 382749
| EMOKER SIS 319978 2T T | B 110500
2 KERHTERE |
3 %%%2@%%&&&&& 87875
Y SRR E g
1 fieng 8250
B [ SREE S
St 10,500
REAE AR
6 ELWTRAME 1560
7 TR 5000
o S A o8
Y B3 S KR
10 o R By i1 % 720
1 %g'ﬁbkﬁ'@ PR 1126
12 ggilﬁ@ﬂ%u HEI 43277
28 @ 4&| 75597/ 1088340 3292373
WA 7 OESNRUCEES 25




WA T e R TTEE 26
W e 5,860 1181 L676) | LRI 5860
i 150 i L 2 £ L 418,648 394,012 24.636| | i}fﬁiﬂﬂb@t*ﬂr$¥ﬁ 170,807

5 gﬁ%ﬂ:?%ggjﬂ 247 841
HE A E e 506,994 505,017 1977| 4 g%ﬁ?ﬁ&%ﬁfﬁﬁ 506,994
{2 R AL 2 1 HH < 1,737,801 3126456 1383655 1 AREEFEAES 1
2 REEHRAEE 126,312
3 PIRIMETRIE 40127
1 W AR o0
PESR T B AR 1,307 1,307 0 1 FHEMREREAESE 1,307
MR E B 21 H 6 758,235 1914608 “1156373 ; ;E%ﬁ?&ﬁ%%ﬁﬁ 22950
2 %F;Egﬁﬁ%%@%ﬁ 17.500
5 gfﬁﬁﬂ%§¥ﬁ 2400




~
=

BE m e
m

mE
EE b

(o]

O
= #R
MEDE IESF

OIHE DT
T
i
i
HE

i
Er
¥
!

p g
10 Fyii%

|1 BRI A

Femaing

1o Te AKR S R 1
%

13 LRI STl
ERED

4 SR i o 3
{E

15 M PR
fRiiEs

N LI SST
&

H
-3

Lig

=

2

18

50
oL

©
Hels

[\S]
(@]

N
3 omn e =
DR IS AR RS

D el
il
m—

=B

=

A«

=2

oy

o

HE

|

N
et
n ¥
piiy
il
i

1,575

20,300

62,800

37,650

500

229,078

27,000

23,640

33,560

4,860

63,750

15,520

114,854

30,857

881

20,135

AT

e N UEEE

27




WA T N CTEHE 28

(A S 1079751 41,855385 “T15634) 4 Eiﬁgﬁﬁ%&ﬁﬁ 41
2 INHZEEAES 534

JEBED XOBAR] g

RN | 0

5 B 4 dFEURR 177,000

o IR 0410

; z;/wma&ﬁﬁﬁm 2000

o gu%ﬁrﬁaﬁzﬂ%gm o7 950

11 GBI ENHH 115,000

y ig gfi RIS oy

y %ﬁﬁ? W e -

16 igg;(gﬁmﬁ$ 14,520

i&ﬁ%fgﬂiﬂkgﬁi‘ﬂ 4,000




1 B R 7500
19 EREEES 30,260
20 LHIRIIRELLL 48 353675
o1 BIHTRAELELE | o5
o BEIWSEEIR | 06000
3 égﬂ%ﬁ%%ﬁ 23000
B SRR AN S 7371 7371 0| | BAEmIEE 7371
5t 7835945 11,511,067 367512
WA T SN CEES @




GO 8 EHRRU TR

15 o ] \
g A IE E |8 FOE L [ — i) HA
X ) A
1 T T T
1 & H ! 9,734,359 8,922,704 811,655
1 B B #F B 8 597873 520,035 7783 1+ M O 51,563
2E WM A R 546,310
2 M BE MR BAE A OR 1,218,809 1,240,404 21595 | B_JRG Y A — 90
AR
2 M ERA TR ERR 1,217,909
FAk 2
2 PTG R B A A 41,179
4 | 5 O H OH 200 201 M1 EHRN R R 200
5 {EFEEuE A 4,224 578 3,510,570 714008 | fEHRER G A— 21 555
i) 1 N
2 Yo E SR 3200
X & 2E AR 168,083
5 135 ORZMEE R 63,865
6 &2 K HFM# H K 358,976
Th DO KME AR 7919

mA 8 [ERRNTTER

31




mA 8 IR TR 32
g LERELY an = — \
8 Pk R 3511769
g;ﬁ%ﬂiﬁﬂ%ﬁﬁﬁ 57389
;ﬁéé@ﬁ%&ﬁ 20827
6 PEEF M AN 38,163 45132 “6960| | BHRPE R A— 9761
TR
2 8% b E% 4 AR 1,203
3 B EAERE TR 8290
R AR
TR i 4012
%Qwﬁ%ﬁ%ﬁ 146
6 ZMEH L kRE S 690
6 Tk mfi e :
ﬁ%ﬁm R 13761
7 RERKOK OB 19,709 17,756 1.953| 1 FRE K2R AR 17,941
EF R Xk 1676
HVHIFE LD/
S H—E %
8 #H & B H 2,748,033 2748033 0| 1 @ 17 W e {5 AR 45,000
2501 B & R 800,000
3B H G M A M 57,000
N i L i A S 587926
5 3] )11 st o 8 R 134,700




6 %%LE%?%HMQ 33790
7 ﬁ;‘%{%ﬁzﬁﬁﬁiﬂﬂ 3400
SEE & M A K 703,470
9 A % * 93,578
0 #& &5 & 8 # 103,764
IR RN R S 185105
B BHE M H OH 287,439 296,757 “9318| 1 B 37 KR I XK 26,649
2 57 R H R 239917
3 RLBE R R 5313
F £ # 12,005,530, 12,361,570 /356,040
wmomFE BN 30,559 25,360 5199| 1 44 B 5E BH F £0pl 30,360
BUAMHALN ST #S
2 H TR 199
b 1R ML T EROR 631 621 10| | {8 EAF Ui 1
TR
P g;%@%ﬁ%%ﬁﬁ% 630
BEREAE TR 776,013 789,731 “13718| 1 R % F O BOHE 551,050
2 ENBARAE AT Ek 60
3 E%@%ﬁﬁ sukse 94,211

mA 8 [ERRNTTER

33




A 8  {FHHPR M UTFEE 34
4 T LS 32791
B L HEERBRE
5 $§§ﬂ 31211
6 SR TS T 65,690
Bk
4 B OB OF OB OH 163,369 174,736 “11,.367| ﬁ%%ﬁ%&&fﬁﬂﬂ% 7
A= EIYE
2 BErFRON 1072
5 PR :
HEGE FHOH
YU RS e
I GRS 1,880
— R eI iRk
e o Ub 350
BRI RS
6 farson 40
HMIZER
7 %%{; fgf{ﬁ AT 146,343
ﬁ%ﬁ@@ﬁ’@
8 T 2,604
o (BN ETEET | 576
%ﬁﬁ%ﬂ%&ﬂ '
11 FF 7T 5 F 808 7,587
5 fEHE ARk T O 541,879 584,681 S42.802] 1 % &% 1 TR 9,625

, R s 2=
Thor




6 %%LE%?%HMQ 33790
7 ﬁ;‘%{%ﬁzﬁﬁﬁiﬂﬂ 3400
SEE & M A K 703,470
9 A % * 93,578
0 #& &5 & 8 # 103,764
IR RN R S 185105
B BHE M H OH 287,439 296,757 “9318| 1 B 37 KR I XK 26,649
2 57 R H R 239917
3 RLBE R R 5313
F £ # 12,005,530, 12,361,570 /356,040
wmomFE BN 30,559 25,360 5199| 1 44 B 5E BH F £0pl 30,360
BUAMHALN ST #S
2 H TR 199
b 1R ML T EROR 631 621 10| | {8 EAF Ui 1
TR
P g;%@%ﬁ%%ﬁﬁ% 630
BEREAE TR 776,013 789,731 “13718| 1 R % F O BOHE 551,050
2 ENBARAE AT Ek 60
3 E%@%ﬁﬁ sukse 94,211

mA 8 [ERRNTTER

33




A 8  {FHHPR M UTFEE 34
4 T LS 32791
B L HEERBRE
5 $§§ﬂ 31211
6 SR TS T 65,690
Bk
4 B OB OF OB OH 163,369 174,736 “11,.367| ﬁ%%ﬁ%&&fﬁﬂﬂ% 7
A= EIYE
2 BErFRON 1072
5 PR :
HEGE FHOH
YU RS e
I GRS 1,880
— R eI iRk
e o Ub 350
BRI RS
6 farson 40
HMIZER
7 %%{; fgf{ﬁ AT 146,343
ﬁ%ﬁ@@ﬁ’@
8 T 2,604
o (BN ETEET | 576
%ﬁﬁ%ﬂ%&ﬂ '
11 FF 7T 5 F 808 7,587
5 fEHE ARk T O 541,879 584,681 S42.802] 1 % &% 1 TR 9,625

, R s 2=
Thor




3 1k 71 4 £ T BOR
1 RE LB TN
o RIREI R
Tk

o T — ¢ A
EFE

o P MR
AT RO

o MAESTIEGMEFS
Gk ==

o M
THoRt

(o DS T —
Hsile TR}

11 BT TR A0R)

i L
% TR

13 BRI
G T HORL

14 RS T
£l

|5 B RS T
H

16 & % B 75 F MR

7 AR TR
K

g BT - 5 <0
PRt B 3 T 2k

10 LB T T2

o BRI T2
THH

17,476

262

4,182

968

6,920

3,155

7,014
7,726

25

10,335

141

149,106
16,046

25,225

10,033

mA 8 [ERRNTTER

35




3 1k 71 4 £ T BOR
1 RE LB TN
o RIREI R
Tk

o T — ¢ A
EFE

o P MR
AT RO

o MAESTIEGMEFS
Gk ==

o M
THoRt

(o DS T —
Hsile TR}

11 BT TR A0R)

i L
% TR

13 BRI
G T HORL

14 RS T
£l

|5 B RS T
H

16 & % B 75 F MR

7 AR TR
K

g BT - 5 <0
PRt B 3 T 2k

10 LB T T2

o BRI T2
THH

17,476

262

4,182

968

6,920

3,155

7,014
7,726

25

10,335

141

149,106
16,046

25,225

10,033

mA 8 [ERRNTTER

35




mA 8 IR TR 36
51 %ﬁfﬁﬂﬁ&%ﬁ%& 3
TR A RS
22 E T ROR 13.606
23R HLFE R 2,667
2N TSR P R RO 11,168
251R it At F &M 62,230
o6 %E%Bﬁ%ﬁﬁ%ﬁﬁ% 13,885
27 FEARARAF T ] TRk 3
o8 ﬁﬁ%?ﬁ%ﬁ%ﬁﬂ%ﬁ& 13601
29 gﬁ%ﬁ%ﬁ??ﬁ?&? 2200
B EEEMERT
30 gﬂ?ﬂ X 792
31 £ T B H 149,334
6 PEETE T BN 210,289 197,959 12.330| 4 %ﬁ?ﬁ%éﬁﬂ%ﬁ 58
k]
35 m F O BOH 30,151
4 %‘%Hﬁﬁm%ﬁﬁfﬁﬁ 155,089
5 iﬁﬁ%ﬁﬁﬂﬂ%ﬁ?ﬁ 1176
6 ggﬁﬁtﬁﬁ%ﬁ 258
7 BRI E TEk 14,150




3 %gz)llfﬂﬁﬁ%;-%? 1262
TR A o 5 A

O FER 1563
HiBEME SRR AL E

10 P Akl 240

1 E}f%ﬁﬁﬁ%ﬁﬂﬁii& 352

7 E MK PEFEBH 59,070 60,440 21,3700 1 AER B 5% T80 722

2 BE¥ERER TR 594

o WO EIZE R 4
A[ZETHCRL

4 FE N LI RT 46
TR

5 FKEMMFETHR 72

o IRHETERRE R TR 1
£l
SMEELTERPET

7 BN ? 33

3 gﬁc;ﬁ‘%ﬁﬁﬂﬁﬁ? 185

9 %%%%Eﬂ?%ﬂﬁiﬁz 1,610

10 iﬁ%%ﬁﬁmﬁ%@ 158

11 &R TR 48023

1o PREHET L e e o0
BERFFER

13 %ﬁ@%ﬁ%ﬁﬁﬁ& 5650

mA 8 [ERRNTTER

37




6 %%LE%?%HMQ 33790
7 ﬁ;‘%{%ﬁzﬁﬁﬁiﬂﬂ 3400
SEE & M A K 703,470
9 A % * 93,578
0 #& &5 & 8 # 103,764
IR RN R S 185105
B BHE M H OH 287,439 296,757 “9318| 1 B 37 KR I XK 26,649
2 57 R H R 239917
3 RLBE R R 5313
F £ # 12,005,530, 12,361,570 /356,040
wmomFE BN 30,559 25,360 5199| 1 44 B 5E BH F £0pl 30,360
BUAMHALN ST #S
2 H TR 199
b 1R ML T EROR 631 621 10| | {8 EAF Ui 1
TR
P g;%@%ﬁ%%ﬁﬁ% 630
BEREAE TR 776,013 789,731 “13718| 1 R % F O BOHE 551,050
2 ENBARAE AT Ek 60
3 E%@%ﬁﬁ sukse 94,211

mA 8 [ERRNTTER

33




A 8  {FHHPR M UTFEE 34
4 T LS 32791
B L HEERBRE
5 $§§ﬂ 31211
6 SR TS T 65,690
Bk
4 B OB OF OB OH 163,369 174,736 “11,.367| ﬁ%%ﬁ%&&fﬁﬂﬂ% 7
A= EIYE
2 BErFRON 1072
5 PR :
HEGE FHOH
YU RS e
I GRS 1,880
— R eI iRk
e o Ub 350
BRI RS
6 farson 40
HMIZER
7 %%{; fgf{ﬁ AT 146,343
ﬁ%ﬁ@@ﬁ’@
8 T 2,604
o (BN ETEET | 576
%ﬁﬁ%ﬂ%&ﬂ '
11 FF 7T 5 F 808 7,587
5 fEHE ARk T O 541,879 584,681 S42.802] 1 % &% 1 TR 9,625

, R s 2=
Thor




3 1k 71 4 £ T BOR
1 RE LB TN
o RIREI R
Tk

o T — ¢ A
EFE

o P MR
AT RO

o MAESTIEGMEFS
Gk ==

o M
THoRt

(o DS T —
Hsile TR}

11 BT TR A0R)

i L
% TR

13 BRI
G T HORL

14 RS T
£l

|5 B RS T
H

16 & % B 75 F MR

7 AR TR
K

g BT - 5 <0
PRt B 3 T 2k

10 LB T T2

o BRI T2
THH

17,476

262

4,182

968

6,920

3,155

7,014
7,726

25

10,335

141

149,106
16,046

25,225

10,033

mA 8 [ERRNTTER

35




mA 8 IR TR 36
51 %ﬁfﬁﬂﬁ&%ﬁ%& 3
TR A RS
22 E T ROR 13.606
23R HLFE R 2,667
2N TSR P R RO 11,168
251R it At F &M 62,230
o6 %E%Bﬁ%ﬁﬁ%ﬁﬁ% 13,885
27 FEARARAF T ] TRk 3
o8 ﬁﬁ%?ﬁ%ﬁ%ﬁﬂ%ﬁ& 13601
29 gﬁ%ﬁ%ﬁ??ﬁ?&? 2200
B EEEMERT
30 gﬂ?ﬂ X 792
31 £ T B H 149,334
6 PEETE T BN 210,289 197,959 12.330| 4 %ﬁ?ﬁ%éﬁﬂ%ﬁ 58
k]
35 m F O BOH 30,151
4 %‘%Hﬁﬁm%ﬁﬁfﬁﬁ 155,089
5 iﬁﬁ%ﬁﬁﬂﬂ%ﬁ?ﬁ 1176
6 ggﬁﬁtﬁﬁ%ﬁ 258
7 BRI E TEk 14,150




3 %gz)llfﬂﬁﬁ%;-%? 1262
TR A o 5 A

O FER 1563
HiBEME SRR AL E

10 P Akl 240

1 E}f%ﬁﬁﬁ%ﬁﬂﬁii& 352

7 E MK PEFEBH 59,070 60,440 21,3700 1 AER B 5% T80 722

2 BE¥ERER TR 594

o WO EIZE R 4
A[ZETHCRL

4 FE N LI RT 46
TR

5 FKEMMFETHR 72

o IRHETERRE R TR 1
£l
SMEELTERPET

7 BN ? 33

3 gﬁc;ﬁ‘%ﬁﬁﬂﬁﬁ? 185

9 %%%%Eﬂ?%ﬂﬁiﬁz 1,610

10 iﬁ%%ﬁﬁmﬁ%@ 158

11 &R TR 48023

1o PREHET L e e o0
BERFFER

13 %ﬁ@%ﬁ%ﬁﬁﬁ& 5650

mA 8 [ERRNTTER

37




A8 NPTk

38

4 ORS00 e o
rE ARl

15 30 A 5 5 T BN
| BELRBIE ALk
TR

4,690

w P

woR

1,012,996

1,002,608

10,388

| AR TS AR

2 SREHIE TR

o AT AR T
Hkt

4 BRUK THET A
TR

o PR LHHIRET
#ik!

6 THIRAEETLR
7 SERHE T
Bkt

o ORI T
ol

O IR LSS T HR
(0 EIEE R
b3l

1 AN AR
FHH

12 3 TR
13 R AR i
TR

14 FESRERTAT EH T OR
15 LM T TR
HETHA

436,704
81,641

36

2978

179

2,370

85

2,628

5,320

400

4,620
233,147
564
19,416

318




A8 NPTk

38

4 ORS00 e o
rE ARl

15 30 A 5 5 T BN
| BELRBIE ALk
TR

4,690

w P

woR

1,012,996

1,002,608

10,388

| AR TS AR

2 SREHIE TR

o AT AR T
Hkt

4 BRUK THET A
TR

o PR LHHIRET
#ik!

6 THIRAEETLR
7 SERHE T
Bkt

o ORI T
ol

O IR LSS T HR
(0 EIEE R
b3l

1 AN AR
FHH

12 3 TR
13 R AR i
TR

14 FESRERTAT EH T OR
15 LM T TR
HETHA

436,704
81,641

36

2978

179

2,370

85

2,628

5,320

400

4,620
233,147
564
19,416

318




16 B T2 72,141
17 AT 173

18 R AT 25735

9§§ﬁﬁ% e 37

TR ao

BosFOBON| SOUST0) 031208 SEW | HEGEEAIET o700
, @%E%ﬁ%@ﬁﬁﬁ 20477

) g@gﬂﬁf%sﬁm 17996

Sty E SILIES 18] 33.945

6 HfA TR 120277

7 BRI 16

8%%&@%&%%? 9,831

o GRENHET 56,279

mA 8 [ERRNTTER

39




A 8 RN OTER 40
13 AW 4 At FER 554,094
14 % IR B Y 90439
15 ﬂ@%ﬁ@ﬁ&@fﬁtmﬁ 4860
17 RIERERTRE | 12850
18 JEER (LR ] F 2okt 356,200
0 # & F &M 225854 212,226 13628 1 # & % 7F F Bk 56,228
2 WS R T EOR 166,025
3 %@ﬂﬁﬂiﬁﬁﬂiﬁ 3601
5t 21,739,889 21,284,274 455615




